P-1(1+1+1) G/20 (N)
2020
ZOOLOGY (General)
Paper Code : ZGTI1-A & B
[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : |IIl|A |& |B

Subject Name :

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : ZGT I - A

Full Marks : 10 Time : Thirty Minutes

Answer all the questions.
Choose the correct answer.

Each question carries 1 mark.

1. The process of cell drinking of Amoeba is called —
(A) Ingestion
(B) Osmoregulation
(C) Pinocytosis
(D) None of the above
S| Amoeba - €3 (I Tz *GoE IoN 27 —
(A) ZCEHI
(B) SACGNCIETeT=Ie
(C) foramtiziGimT
(D) Ttz (AT =
2. How many Paramecia are produced after conjugation ?
(A) Two
(B) Eight
(C) Four
(D) Sixteen

3| A GG AT FoRfT 2FRIIPRI (o 232
(A)
(B) =I5
(C) v

(D) cAlet
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3. Glass sponges belong to the class —
(A) Demospongiae
(B) Calcarea
(C) Tetractinellids
(D) Hexactinellida

© | 2 gafe @ @dT s ?
(A) coTTife
(B) TSR
(C) Paftafere
(D) czmfgCafere

4. Spicules are secreted by —
(A) Porocyte
(B) Choanocyte
(C) Pinacocyte
(D) Scleroblasts
8 | e ix @l feaifee =7 —
(A) CNTCAAIZG
(B) CPRICTZG
(C) ARG
(D) FCECAIIPE
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5. A coral island with a central shallow lake is known as —
(A) Coral reef
(B) Lagoon
(C) Atoll
(D) Corallite

¢ | G 2T [T TS WIS gnF el 27 —
(A) RIS A
(B) (51w
(C) SuiGeT
(D) N6
6. Placoid scale is found in —
(A) Rohu
(B) Eel
(C) Reptiles
(D) Sharks
Y| (T S AT A —
(A) ¥
(B) 31
(C) TPpA
(D) =rex
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7. Scoliodon is —

(A) Dog fish

(B) Cartilaginous fish

(C) Hag fish

(D) Both (A) and (B)
a1 Scoliodon 251 —

(A) T fest

(B) Slaiesiieam e

(C) Ztal =

(D) Twe (A) =K (B)
8. Ancestral kidney is —

(A) Pronephros

(B) Metanephros

(C) Archinephros

(D) Holonephros
v | 2oy 390 25 —

(A) ACTT

(B) (BICTE

(C) SNRRFATH

(D) ZeTC=rT
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9. Fangs are found in —
(A) Poisonous snakes
(B) Non-poisonous snakes

(C) All snakes
(D) Rats

> | fre sheat I —
(A) e Aot
(B) =21 el
(C) AIHKCTT AlCA
(D) ¥

10. Which of the following given below does not belong to Cetacea?
(A) Porpoise
(B) Whale
(C) Dolphin
(D) Shark

o | Iea @I I9f PIoIPRR or@sfe 71 —
(A) #F3
(B) fof
(C) weifzrey
(D) =rex
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P-1 (1+1+1) G /20 (N)
2020

ZOOLOGY (General)
Paper Code : ZGT I - B
[New Syllabus]

Full Marks : 40 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Write your answer within one page for the questions carrying 4 marks each
and within three pages for the questions carrying 12 marks each.

Unit - 1
(Life and Diversity of Non-chordates)

1. Answer any two questions : 4x2=8
(a) State the distinguishing characters of Protozoa with examples.
(b) Write a short note on parasitic adaptations of Fasciola.
(c) Draw and describe the structure of Nauplius larva.

(d) Describe the male reproductive system of Periplaneta with a diagram.

2. Answer any one question : 12x1=12
(a) Describe the life cycle and parasitic adaptation of Ascaris. 8+4
(b) Classify phylum Cnidaria upto classes with reasons and examples.

(c) Describe the morphology and ciliary mode of feeding in Balanoglossus.
6+6

Unit - 2
(Life and Diversity of Chordates)
3. Answer any two questions : 4x2=8

(a) Describe the different types of scales in fishes with diagram.
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(b) Describe the structures associated with the poison apparatus of snake.
(c) Write a short note on “Echolocation in bats”.
(d) Explain the main types of flight in birds.

4. Answer any one question : 12x1=12

(a) Compare the anatomical structure of brain of Bufo, Columba and
Rattus.

(b) Describe in details the different types of parental care in amphibia with
examples.

(c) Classify class Reptilia upto living orders with reasons and examples.

RiiPRld
T - >
(Life and Diversity of Non-chordates)
S| @ (A 9o ATeT Ted (e 8 x3=b
(F) Traemiz canEmE (IR sgefe adar w91
(4) FFSAR »[EIRITe Sfere FF a3 FRHEFS @5 G0l |
(o) iz Fferamt ArSl-9g aiow <t 31
(9) ARG 7 dees ©F Haog I 31|

R @ @ GFB AT TE (@R SIXS=5%

(F) Ascaris sp.-93 *RGNT ST € GRAGF Il F7 | v+8

() frelzm “Itdq N @F % SRR TR 39|

(1) Balanoglossus-€3 st @< HferaE M Awaed omfe e T
YV+Y
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B0 - R
(Life and Diversity of Chordates)
o @ @I 9o et Ted (1Y 8 x3=b
() ooz wtea [Kfoq «qea lieig 9041 wie |
(}) AT KFacga om 3¢ 741
(a1 “qres wifomf fmmete” Tecm <36 M:FEFFY Bl @14
(7) ~NfRme Rien Tewaw o= T2 10 31|

81 (A (A @F> ATHT TeF (7Y SIXS=33
(F) TG, AR IR TAEF AFET NI QNI S T |
(}) TIRRePTR TOb(R (FE ool qrgd [fen e fm it 594
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P-1 (1+1+1) G /20 (N)
2020
ZOOLOGY (General)
Paper Code : ZGT II- A & B
[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : |IIl|A |& |B

Subject Name :

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : ZGT II - A

Full Marks : 10 Time : Thirty Minutes

Choose the correct answer.

Each question carries 1 mark.

1. Which one is the producer in ecosystem ?
(A) Tiger
(B) Insects
(C) Plants

(D) Sun

S| AR &Y (I AEOCE GRAE 2
(A) 19
(B) ro%
(C) ©fgn
D)

2. Which ecological pyramid cannot be inverted ?
(A) Pyramid of number
(B) Pyramid of energy
(C) Pyramid of biomass
(D) None of the above

2| @I Praifieft esbita weT 97 ¢
(A) R4 PRI
(B) ifew forifire
(C) AR F==ifRe
(D) Ttz (IICAIDE =
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3. Sundarban is a —
(A) National park
(B) Biosphere reserve
(C) Sanctuary
(D) Children’s park

© | YW 26 b —
(A) TTSIT Syl
(B) IR el
(C) IR
(D) s Swpiw
4. How many queens are present in a bee hive ?
(A) 1
(B) 2
©)3
(D) 4

8| @ GO 3% AN Gwifg I8 2
A) >

(B) 2
(C) o

(D) s
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5. How many biodiversity hotspots are present in India ?
(A) 3
(B) 2
© 4
D) 1

¢ | ORe W GRLABD@T 2670 It ?
(A) ©
(B) 2
©) 8
D) >
6. Which one is a greenhouse gas ?
A) O,
(B) CO,
(C) SO,
(D) H,0
Y| G S (I ATRISH o 2
(A) O,
(B) CO,
(C) SO,
(D) H,0
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7. Which one is related with edaphic factor ?
(A) Air
(B) Water
(C) Sky
(D) Soil
Q| G T (I GOIRRS ST A H S 2
()
(B) &=
(C) =
(D)
8. Which one is a toxicant ?
(A) Pesticide
(B) Cow dunk
(C) Dust
(D) Sunray

v | Mwa @G Rl
(A) FoarE
(B) (oM<=
(C) fereen
(D) o =
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9. Who is the highest consumer ?

(A) Grass hopper

(B) Frog

(C) Eagle

(D) Snake

> I A A ?

(A) TPTFE

(B) T8

(C) siet

(D) oA

10. Which one is a result of water pollution ?
(A) Sneezing
(B) HIV
(C) Tumor
(D) Cholera

o | TIHA (FIND ST AR PR TCH 2
(A) 2ifo
(B) HIV
(C) ooz
(D) eer
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P-1 (1+1+1) G /20 (N)
2020
ZOOLOGY (General)
Paper Code : ZGT II - B
[New Syllabus]

Full Marks : 40 Time : One Hour Thirty Minutes
The figures in the margin indicate full marks.

Write your answer within one page for the questions carrying 4 marks each
and within three pages for the questions carrying 12 marks each.

Unit - 1
(Ecology, Environmental Biology, Wildlife and Animal Behaviour)

1. Answer any two questions : 4x2=8
(a) Discuss about ecological pyramids.
(b) Write a short note on EIA.
(c) Write note on National park.

(d) Describe social organization in Honey bee.

2. Answer any one question : 12x1=12
(a) Discuss energy flow in ecosystem. What is food web? 10+2
(b) Discuss the causes, results and solutions of air pollution. 5+3+4
(c) Describe ex situ and in situ conservation method. 6+6
Unit - 2

(Taxonomy & Systematics and Evolution)

3. Answer any two questions : 4x2=8

(a) Write a note on Linnaean hierarchy.
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(b) Write down the names of Zoogeographical realms.
(c) Write short note on Neo-Darwinism.

(d) Discuss about biological species concept.

4. Answer any one question : 12x1=12

(a) Write down the principles of binomial nomenclature. Discuss Lamarkism.
8+4

(b) Discuss different types of mimicry and their significance.

(c) Write an essay on aquatic adaptation.

BEqGoIG

TG - >
(Ecology, Environmental Biology, Wildlife and Animal Behaviour)
S| G 7o Ao Ted mie ¢ 8 x3=b
(F) TSlEAGIE PRI TICF Sienba 7|
(}) EIA [ e Bl (@74 |
(o) ST Syl I Il (@74 |
(F) CTifes ANEE oMo FIF SNCAB 34 |
2 @ DN @b 2T Te 7S SIXS=53
SY0+3

(F) *IfF T2 TE NS F91| A ST 12
() MY FACER I, o G ARSHI FH=CF ST 5 | @+o+8

() a3 B1p ¢ T F1p T simls Ieq 791 Yt
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T - 2
(Taxonomy & Systematics and Evolution)
o @ @I 9o et Ted (1Y 8 x3=b
() Terferm fexmenf 7cF Bl =14 |
(%) giEeicee Sesfem aw @ |
(o) fHe-THesfeE 7Tt bl (714 |
(%) & 2eifs TS SCenbel 9 |

81 (T (Rl @35 23T Ted Wi : SIXS=53

(F) Ta-o TIFACIT TS SATADA I | TG T2EF SNCEAB F7 |
b+8

(%) RfSq oI SgPple IR M @G T9F TG F7 |
(o) SeTe SfSTAGH F(F G0 2T Ao 9|
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